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No. 1 FE#ESZHT | No.2 BEESLHT
¢ 3,500 ¢ 3,000
SEHUREEE T RAZIRES m 5.203 4. 560
I EGRES m 1. 197 1. 440|BIli& L4
FRIETR m 4. 403 3. 560
JeBRr— T m 2. 300 2.300
Hr—v 7 m 2. 300 1. 700
=7 m 1. 000 1. 000
Wk —v 7 m 2. 800 2.500
M r— 7 FEASRHIFEIA S L CkhPE+ 5N=30) || m 1. 400 -
JEAHRHI 9. 0mLA T (WE 1 50<N) m 4.613 1. 740
(B¢E 1 N=30) m — 2. 080
TAHEY - m 1. 150 —
A 1 m — 2. 200
AR F m 7.163 6. 020
= JRNE T FERL=2. 3m ] 2 -
A& — o v NIRRT L=1. Om A 1 —
= TYRBET AT 2 2
PR m 22.4 19.2
r— 75 BT m 1.5 1.2
Ega 7 U— K~ EEa s U— | 30-18-20(25) BB (R 1 1
m3 20.3 11.2
J-E NHE 1 55 G FEPRER B T & 1 1
L — o AR m 5.6 5.0
BT v 7 & 56 48
W% r— v 718k 2y 1 1
SEHUKER & AT 1 1
VIS g AT A LLET m3 7.9 5.8
T L X 1 1
VARG N BT, ZAHMT m2 26.6 -
M7 TR & - 1
B 0oL m — 11.9
B, MR Fa\ 1 1
+T HRHIEE9. OmLL T CitEt) m3 13.5 —
77 K= VARH (W& 1) m3 44. 4 12.3
(BE 1) m3 — 14.7
() m3 11.1 15.6
AN FE m3 69.0 42. 6
2R 7 7 T R m3 13.8 -
& & 82.8 42.6




# &= i
ffr ok -tk || — i
No. 1 F&ES7HT | No. 2 B 7L
+T FAE Ly T m3 82.8 42.6
EEETINT T As t=15ecmPL T m 20. 6 9.4
SERE R EIRA T As t=10cmPL F m2 26. 6 7.1
ROy T As m3 1.1 0.3
15 UEER - W5 T m3 0.02 0.01
£ T 1Al T 300A i (FRFIA) m 6.0 —
IR BEAK T ¢ 300 IRE FRIE m 9.0 —
e Gr-C—4E _
H—FL—AT i () m 5.0




4 L7 &R § B = % &
No. 1 FEHENTHT ( #E PO ¢ 3,500 )
SHURE T AR 7S = 5.203 m
r— 0 eR t=22mm = 5.600 m
SEr— 1 K = 2.300 m = 2.300 m
FR =y 1 K L= 2.300 m = 2.300 m
ik r—v s RS L= 1.000 m = 1.000 m
Wikr—v v 1 A L= 2.800 m = 2.800 m
it = % h = 1. 500 — 0.303 = 1.197 m
%k E R h = 5. 600 — 1.197 = 4.403 m
JEASEAIRGA S L EETIRTS
H=9. 0om LA T CREPE+ 5KN=30) 62.76 - 61.36 = 1.400 m
(RYE + 50<N) 60.21 - 55. 60 = 4.613 m
(EARY ) 61.36 - 60. 21 = 1.150 m
ZIEURAS o= 7.163 m
r— v FHAST T i RL=2. 3m 2 [A]
etk — 3 v ISEInERET L=1. Om 1A
r— s TYRBET BT 1.2 X 2 & = 22.4 m
=78l BT 1.5 m
a7 ) —h 30-18-20(25)BB = 20.3 m3
JE NS IR i FEMRER S T L &
HHEL Y — v v U 5.6 m
T > 7 = 56 &
R —v v 7k L=2.8m 1K
NEHUKER 1 f&HT
Ve KTE R ALEE AT A LDHERT = 7.9 m3
BIM. =M
R T BTHGRE T 5.16 X 5.16 26.6 m2
+ T LIRS = 7.16 m
7T L = VARHEI
(9.0mELF) CREPET)
2
x/4 X 3.500 X (  1.400 )= 13.5 m3
(& 1)
2
x/4 X 3.500 X ( 4.613 )= 44. 4 w3
(EFRIRY )
i)
x/4 X 3.500 X ( 1.150 )= 11.1 m3
INEF = 69. 0 m3
Ny 7 R U RH "2
—ft T 5.160 X ( 0.850 - 0. 040 )= 21.6 m3
i) EEE
z/4 X 3.500 X ( 0. 850 - 0.040 )= 7.8 m3
21.6 — 7.8 NEE = 13.8 m3
BAE Iy 69.0 + 13.8 Gt = 82.8 m3
HSEREIRT FESEIL 4 X 5. 160 = 20.6 m
2
SEE R B R I RGA T 5. 160 = 26. 6 m2
(AsHl) "2
FESALS T 5.160 X 0. 04 = 1.1m3
VG - 4y T 0.023 X 0.04 X 206 0.02 m3




4 ias o] G B By ¥ =
No. 2 EF#ESLHT ( 8% RO 3,000 )
SRR T AR RS 4.560 m
r—v v reR t=22mm .000 m
FEr—v U IR L= 2.300 300 m
Fr—v s 1 K L= 1.700 .700 m
tkr—v U N L= 1.000 .000 m
W r—v 7 1K L= 2.500 .500 m
= h= 1.500 — 0.060 440 m
% h= 5000 — 1.440 .560 m
JE AR EIBDA A T I IRYS ( 60.43 - 58.73
H=9. 0mLL T (WE -+ 50<N)  + ( 56.53 - 56. 49 .740 m
(B 1 N=30) 62.51 - 60. 43 . 080 m
(1) 58.73 - 56. 53 .200 m
FALLEES .020 m
= U TR B L 9.6 X 2 £ 19.2m
r—vr 75 BT .2 m
EiEar s U—h 30-18-20(25) BB 11.2 m3
JFE NI % fi BEIRRR B 25 1 1 &
WL — v v JiEE 5.0 m
BT > 7 48 fH
R —v v 7k L=2. 5m 1=
SEHUKEE 1 &
VesKk AL PE AT A LDHT. 5.8 m3
B L B IHGERE L M Tk FFOE ¢ 3, 000 1 &
TV T 11.9m
+ T 1 H R 6.02 m
75 Ky = V]
(9. 0mLLF) (L)
x/4 X 3. ooo2 X ( 2.080 14.7 m3
WE L)
r/4 X 3. ooo2 X ( 1.740 12.3 m3
() )
2
x/4 X 3,000 X( 2.200 15.6 m3
42.6 m3
FLE Sy 42.6 m3
BRSSP T el T X 3.000 9.4 m
SPERITEEMAAT] £/ X 5.000 s
(AsHt)
RIS T 7.1 X 0.04 0.3 m3
15 UEIE - W5 T 0.023 X 0.04 X 94 0.01 m3




T IR A E

2 R V2R NI B - T T T GRtEcE [ Hor  ExEHE
ARSI T As, t=15cmPL F 20.6 9.4 4.0 34.0 | m 34
SHIERREEE T, | As, t=10ecmPL T 26.6 7.1 2.0 35.7 | m? 36
AT M e+ 13.8 0.9 14.7 | m® 10
HORELT RC-40 0.3 0.3 m* 0.3
V5w L WE L 82.8 42.6 0.9 126.3 | m® 130
e 82.8 42.6 0.9 126.3 | m® 130
PRI AL As 1.1 0.3 0.1 1.5 m® 2
PRIy e As 1.1 0.3 0.1 1.5 m® 2
15 URE - Ly T 0.02 0.01 0.01 0.04 | m® 0.04
WA T RC-40, t=16cm 2.0 2.0 | m® 2
=ET ARk EAS(13) t=3cm 2.0 20| m* 2

mS

SEHTCHOBRL T, B8R T, 28 1) (3 5,




T+ T & &
+Ta7 1-1 TEHE As PR ¢ 300 DP=0.19m
Ex Kk
+ TR L= 4.0 = 4.0 m
< W »
EEl | BR RIEIH BEZHIAs t=3cm
v 8
gﬂ :
g BRiE T 5
o HEMRAEAL  RC-40 °
= o Sy [ .y
| mEM
v : RC-40 < v W *}Eﬁumﬁ 0.500
i D1 [#&4M%]  0.300
DP | | 0.190
¢ D1 H1 [ #EHIEE[ 0.490
H2 | #RiHI&E ] 0.450
hl || 0.300
( 4.0 m 47=0EE)
pa PR R =F ik v H = H B &
AEEYINT T As, t=15emLA 1 X 4.0 m 4.0
AL IR B T As, t=10cmPL T 0.5 X 4.0 m? 2.0
oM T etk RE L 0.50 X 0.450 X 4.0 m’ 0.9
HHRLT RC-40 ( 050 X 0.300 — 0.300 2 X x,/4)X 4.0 m? 0.3
mEtRE  E TR
7 ALy WE 1 0.90 — = 0.9 m® 0.9
FRBRALER As 0.5 X 0.04 X 4.0 m® 0.1
LS As m® 0.1
15 VR - AL T 0.023 X 0.04 X 4.0 m® 0.01
e T RC-40, t=10cm 0.5 X 4.0 m’ 2.0
AR AS(13)
*E T t=3cm 0.5 X 4.0 m’ 2.0




